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Yes, it’s correct


piration? EXpIam In detail the s1gmf icance of leaf striictare | in the process of
transpiration.

d. What is meant by the term double mrculatlon‘? Briefly describe how the heart i 1s adapted to keep blood flowing
In a double C1rculat10n
'SECTION-II |
Q. No. 6

\/L?/;ﬁrage ot 11 numbers is 63, that of 1St 6 numbers is 60 & last 6 numbers is 65.Find the 6™ number.
Identify the series g . - _

1. 4, 18, , 100, 180, 294

L i-48. 24, 72. 36, 108,

\/F(dthe correct word from the given words:
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